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P11 (plot by DAT)
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P11 TsN1 (plot by DAT)
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Days After Budding

P11 TsN2 (plot by DAT)
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Days After Budding

P11 TsN3 (plot by DAT)

60 -

50 A

SN
o
1

w
o
1

N
o
1

10 A

Budding

4 Fruit Set

Anthesis

|
B
¢

st

30

40 50 60
Days After Transplant

70

80



P11 TsN4 (plot by DAT)
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P11 TsN5 (plot by DAT)
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Days After Budding

P11 TsN6 (plot by DAT)
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P11 (plot by adjDAT)

?
|
“
? %
" “
-0
e % o
e iy
L_.e¢ ° _|.4
] I
't
0 “||0 _|4 _|0_ '? -
w “I. r* rl‘ _I*
om S 1. e 70
g e, Yy e
I -® I * |
m. 1 4 [ B4
_ull. Tuﬂ e Y o ..*
It T g 'e e
| ]
| B { ‘e P 1
S T T Sy
RS M 44 R
B _.4 _4 -9 “ “
L P r* .“. P
T Tt TT T T ..4||| rlﬂlll_Hmll lﬂ..ﬁll.m_lunnn.l.llll
T Y
_.Iq r_ rl‘ “II4
ST A
] - o )
T Ly |
Te Lo i__g
¢ el
g I-@ |
1 _t“
_Iﬂ “%_
*
-9 Cln_—g9
1 9
[
I €
I - <
1
| 2
| S
I kel
e e @
o o o o o o o o
N~ [(e] Te] < m N —

Buippng a1y sAeqg

100

80

60

Days After Transplant

40

20



P11 TsN1 (plot by adjDAT)
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Days After Budding

P11 TsN2 (plot by adjDAT)
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Days After Budding

P11 TsN3 (plot by adjDAT)
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P11 TsN4 (plot by adjDAT)
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Days After Budding

P11 TsN5 (plot by adjDAT)
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Days After Budding

P11 TsN6 (plot by adjDAT)
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Plot Env Data
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Plot [['sfTemp’, 'sfInit’, 'sfDev’, 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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Plot EnvOpt Decision
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